
Answer on Question #42538 – Math - Statistics and Probability 

60% of invoices paid within 10 days. 17 invoices are randomly selected. What is the probability 
that 16 of the invoices randomly chosen will be paid in 10 days? 

Solution. The probability that the randomly chosen invoice will be paid in 10 days equals 

𝑝 =
60

100
= 0.6. 

The probability that the randomly chosen invoice will not be paid in 10 days equals 
𝑞 = 1 − 𝑝 = 0.4. 

We will use a Bernoulli trial (binomial trial) to compute probability that the 16 randomly chosen 
invoices will be paid in 10 days. This probability equals 

𝑃 = (
17
16

) 𝑝16𝑞1 = 17 ⋅ 0.616 ⋅ 0.4 ≈ 0.001918. 

Answer. 𝑃 = 17 ⋅ 0,616 ⋅ 0,4 ≈ 0.001918. 
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